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QUESTION 1
What is the primary function of a VRF on a router?

A. It enables the router to support multiple separate routing tables, which allows the device to handle overlapping IP
addresses.

B. It enables a router to run BGP and a distance vector routing protocol at the same time, which allows it to serve as a
VPN endpoint between remote sites.

C. It enables a router to configure VLANS locally, which provides segregation between networks.

D. It enables the router to provide faster switching through the network by using labels to identify the input and output
interfaces for neighbor routers.

Correct Answer: A

QUESTION 2

An engineer is troubleshooting an EOMPLS circuit on a Cisco I0S XR router interface that removes a VLAN from the
distribution layer. Which configuration should the engineer apply in order to accomplish the task?

A. interface GigabitEthernet 0/10.12transport encapsulation dotlqg 10 rewrite ingress tag pop 1 symmetric I2vpn xconnect
group 103588 p2p 103588 interface GigabitEthernet 0/10.10 neighbor ipv4 10.10.10.2 pw-id 103588

B. interface GigabitEthernet 0/10.10 encapsulation dotlq 10 rewrite ingress tag pop 1 symmetric I2vpn xconnect group
103588 p2p 103588 interface GigabitEthernet 0/10.10 neighbor ipv4 10.10.10.2 pw-id 103588

C. interface GigabitEthernet 0/10.10 I2transport encapsulation dotlq 10 I2vpn xconnect group 103588 p2p 103588
interface GigabitEthernet 2/10.10 neighbor ipv4 10.10.10.2 pw-id 103588

D. interface GigabitEthernet 0/10.10 I2transport encapsulation dotlq 10 rewrite ingress tag translate 1-to-1 dotlad 10
symmetric 12vpn xconnect group 103588 p2p 103588 interface GigabitEthernet 0/10.10 neighbor ipv4 10.10.10.2 pw-id
103588

Correct Answer: C

QUESTION 3

The network engineering group of a large ISP needs to harden the management plane of its Cisco 9000 Series ASRs.
While addressing IPv6 ICMP issues, they realized they have to limit the rate at which IPv6 ICMP error messages are
sent out on the network. Which command do they need to apply?

A. icmp ipv6 rate-limit unreachable 1000

B. ipv6 rate-limit 2000

C. icmp ipv4 rate-limit unreachable 1000

D. ipv6 icmp error-interval 50 20
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Correct Answer: D

Reference: https://www.cisco.com/c/en/us/td/docs/ios-xml/ios/ipv6_basic/configuration/xe-3s/ip6b-xe-3s-book/ip6-icmp-
rate-Imt-xe.html

QUESTION 4

What must match in the EVPN and L2VPN configuration mode when configuring EVPN native in a router?
A. interface

B. address family

C. bridge domain

D. EVI

Correct Answer: D

Reference: https://www.cisco.com/c/en/us/td/docs/routers/asr9000/software/asrok-r6-2/Ixvpn/configuration/guide/b-12vpn-
€g-asr9000-62x/b-12vpn-cg-asr9000-62x_chapter_01011.html

QUESTION 5

PE (config-router-af) #neighbor 10.10.10.1 local-as 100
PE (config-router-af) #neighbor 10.10.10.1 remote-as 65000
PE (config-router-af) #fneighbor 10.10.10.1 as-override

PE#show ip bgp vpnv4 vrf BLUE 10.10.10.10/32
BGP routing table entry for 111:1234:10.10.10.10/32, version 624
Paths: (1 available, best #2, table BLUE)
Advertised to update-groups:
38 39
65000 65100 65222 65000
192.168.40.1 (metric 31410) from 192.168.10.1 (192.168.10.1)
Origin incomplete, localpref 100, wvalid, internal, best
Extended Community: RT:111:1234
Originator: 192.168.20.1, Cluster list: 192.168.30.1
mpls labels in/out nolabel/1146

Refer to the exhibit. While provisioning a new BGP session between the PE and CE router, you issue the as-override
command. Which statement describes modification of the prefix before being sent to the CE router (10.10.10.1)?

A. The fourth AS changes, but no other autonomous systems change.

B. The first and fourth autonomous systems change.
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C. The second and third autonomous systems change.

D. The first AS changes, but no other autonomous systems change.

Correct Answer: D
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